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CC Algebra

Functions – Review for Quiz[image: image1.wmf]?
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1.  Which of the following is a graph involving an absolute value function?

a. 




c. 

b. 




d.

2.  What are the coordinates of the vertex of the graph of 
[image: image22.png]Stewart International Airport Rates & Information
Parking Lots and Rates at SWF Airport (including tax)
Stewart On-Airport Short-Term Lot

1 hr or part thereof $3

Each additional hour or part thereafter®| $3

24-hr maximum $30

*charges are incurred in hour increments before reaching the daily maximum





a.  (1, 4)



c.  (–1 ,4)

b.  (1, –4) 



d.  (–1, –4)
3.  Which statement best describes the method that can be used to sketch the graph of y = |x + 1|?


a. Translate the graph of y = |x| one unit up. 

c. Translate the graph of y = |x| one unit left.

b. Translate the graph of y = |x| one unit down. 

d. Translate the graph of y = |x| one unit right.
4. [image: image8.png]


 The function f(x) = 
[image: image2.wmf]x

 was replaced with f(x) + k, resulting in the function seen on the graph below. What is the    

 value of k? 

a.  –6

                                 c.  2
b.  –2
                                               d.  6
5. [image: image9.png]


 Which of the following relations is a function?

[image: image10.emf]
a. 





c.

[image: image11.emf]
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b. 





d. 

6.  Which statement is true about the relation shown on the graph below?

[image: image13.emf]
a.  It is a function because there exists one x-coordinate for each  y-coordinate.

b.  It is a function because there exists one y-coordinate for each x-coordinate.

c.  It is not a function because there are multiple y-values for a given x-value.






d.  It is not a function because there are multiple x-values for a given y-value.

7. The accompanying graph shows the heart rate, in beats per minute, of a jogger during a 4-minute interval.  What is the range of the jogger's heart rate during this interval?

[image: image14.emf]
a. 0 – 4 

c.  0 – 110 

b. 1 – 4 

d.  60 – 110 

8. [image: image15.emf][image: image16.png]


Identify the domain and range of each graph:

(1)                                                                             (2)


Domain:





Domain:


Range:






Range:

9. [image: image17.png]


Consider the step function given by 
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(a) Graph f(x) on the grid provided

(b) Is this the graph of a function?
10. [image: image18.png]o



 The step function g(x) is shown on the grid below.  Answer the following questions.

(a) Evaluate each of the following:

g(–4)


g(2)


g(5)

(b)  John states that the range of this function is –4 ≤ y ≤ 4.  Is he correct? Explain why or why not.

11. Find f(–2) for the function 
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12. [image: image19.png]


Graph the function f(x) =
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 Stewart International Airport in Newburgh, NY charges for parking by the partial hour.  Their short-term parking rates are shown below.

(a) [image: image21.png]


 Graph the step function that represents this situation

(b) How much would you have to pay if you parked for 5 hours and 22 minutes?
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